Multiplication & Division of Rational Expressions | [PT99-11]

Perform the indicated operations and reduce to lowest terms.

21,4 2.,3
1) 12asb2 2) 4x y5
16a’bc 16xy
2 2114 3
3) 32a2 .21x 3b 2) 24a2b3ol6x b
7xb 8a 9a
5) 38xy’z  19ac’ 6) 4x*y’z*  24xy°
8la’h® = 27y? 12xy*  16xy
32x%c (17a’x®> 16x 32x%c (17a’x* 16x
7) 2 hd 2 i 8) 2 - 7 )
12a‘b | 34b°c 9a 12ah 34b°c 9a
9) 4x+8.6x—12 10) 2x—3 o(8x+4)
3Xx—-6 8x+16 2X°—-5x-3
11) (8x+4)+ 2x 3 12) 2x2 5x 12.3x2 14x -5
2x°—-5x-3 3X°-11x—-4 2x°-7x-15
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2a’ +ab—3b? 2a—-2b 9x2—9x+2. 6x°

13 14
) a’_b?  2a’+5ab+30° ) 2Xx—6x>  3x-2
x> —y? ) ) 4x* —4x-3 16X’

15) ————eo( X" +2xy+ 16

) y3x—x3y.( Y y) ) 8x+4x  4x2—6X
2 _ _ _ 2 _

17) 6>(2 +X 2.(x 1, 8x 12] 18) 9y2+9y+2+ 2y 1 3y+2
4x°—-8x+3 \3x+2 2x-2 3y —-2y-1 \3y"+4y+1 y+1
3a+2b .2a2+ab—3b2.3a2b2—2ab3 20) 4x* -12x+9 | 4x* -9
2a®+3ab  9a’—4b’ a—b 8x*—27  12x% +18x% +27x

3 2 4.,3 4 2 5
Answers: 1) 32 2 x2 3) 12xb 4) 128ab™x 5) 2>3<y3z2 6) 2sz 7 64x3
4a’c 4y a 3 3a’b’c 9y 27ab

2 2(a—b ?

8) 91 10)4 11)4(2x+1) 12)1 13) (2 2) 14y 3¢ 15) V)

a’x (a+b) Xy
2(2x+1 3y+1)(y+1)°

16) 22 0o 1g BY* )(yj) 19) b2 20) —2X
2+ X (y_1) 2X+3



